




















- -_::43 1ch of the fullnwing Statement is incorrect for the structure t‘NEc]
A) Nucleotides are joined together by phosphodiester linkage

(8) "In DNA molecule, the sugar moiety is B-D-2-deoxyribose

€)' A unit formed by the attachment of a base 1" posi r
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medium. The number of moles of KMnO,
mole of sulphide ion in acidic solution

(D) 2/5
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) Which of the following ion show highest spin onlyimagnetic moment value?

l'(ﬂ) ’ri ) Fez+ : ,' I
) Name the member of lanthanide series which is well known to exhibit + 4 oxidation
'II.._.'u'!' ?

(A) Cerium (B) Thulium

(C) Gadolinium (D) Samarium

3) Which one is the correct formula for coordination compound
" i [ethane 1, 2— diamine] cobalt (IIT) sulphate
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